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[bookmark: _GoBack]A single replacement reaction involves the replacement of the metal ion of a salt with a different metal ion.  For example, calcium may replace magnesium to change calcium chloride to magnesium chloride.
Whether or not this chemical reaction will occur depends on the electronegativities of the metal compared with the metal ion.  In general, if the metal has a lower electronegativity than the metal ion (the metal is more reactive), it will replace the ion.  For example:
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Activity Series
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1. Will nickel react with magnesium chloride?
2. Will chromium react with lead sulfate?
3. Will copper react with zinc nitrate?
4. Will calcium react with hydrogen chloride?
5. Will potassium react with lithium sulfate?
6. Will hydrogen gas react with zinc chloride?
7. Will hydrogen gas react with silver nitrate?
8. Which metal is nonreactive in this series?
9. Which metal in this series is the most reactive?
10. When we say that a metal is reactive, do we mean that its non-ionized form (the solid, metallic, neutral form) tends to donate electrons or that it tends to receive electrons?
11. Is there such a thing as a negatively charged metal ion?
12. Will it go?  Ba + LiCl BaCl2 + Li
13. Will it go? Ag+ NiSO4 AgSO4 + Ni
14. Write the formulas for the reactants and products of the following single replacement reaction and balance the equation:  calcium + sulfuric acid (dihydrogen monosulfate) calcium sulfate + hydrogen gas

image1.png
Fe 4 CuSO, = Cu + FeSO,
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Metal Oxidation Reaction

Lithium L = LT + e
Rubidium Rb = Rb* + e
Potassium K = Kf + e
Barium Ba = Ba®t + 2
Calcium Ca = Ca®* + 2
Sodium Na = Na® + e
Magnesium Mg = Mg** + 2
Aluminum Al = APt 4+ 3e~
Manganese Mn = Mn?* + 2
Zine In = In*t 4+ 2
Chromium  Cr = Cr*f + 3e”
Iron Fe = Fe** + 2
Cobalt Co = Co** + 2~
Nickel Ni = N2t 4+ 2
Tin Sn = Sn’* + 2~
Lead Pb = Pb* + 2
Hydrogen H» = 2HY + 2
Copper Cu = Cu2t + 2
Silver Ag = Agt o+ e
Mercury Hg = Hg®* + 2
Platinum Pt = Pt** 4+ 2~
Gold Au = Avdt 4+ 3e”

Metals at the top of the table are most easily oxidized.




